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Ha: z0l OHE NHIA HZ(HA)
oeol: EEH0 MM 29 (29 & 9)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OPN=F=PNI= 100
-~ E3= 30,000& * 13 30
-E23I2 35,000& * 23] 70
ORBHAAE KX Y| 132,000& = 12& 1,584
OFAN &2 SXNES 165,000& * 128 1,980
OF A AYAIE 22| 150,000& = 12& 1,800
O A &ED|oHA 22| 132,000& * 12& 1,584
O8I |AXHl 100,000& = 12& 1,200
O&AN IlAa= 200,000 = 23| 400
OLE )| AZMHA 1,936
“AAE 4way A ANH 88,000 » 16CH 1,408
-AAE fway A2 AHE 66,000& = 8CH 528
02 332494l 24,546 22,566 1,980
OFA 21,800
- =4l 2,000
-&JIe=2 1,500,000& = 12& 18,000
e =1 150,000& * 12& 1,800
OR3P Fulea=g=: 200
EPNE=PNE= 100,000& =* 23] 200
OB&8 = 1,800
-4~ 832 950,000& * 1CH 950
-G (L ESEEXIEH) 450,000 = 10H 450
-S23= 400,000& = 1CH 400
OX S RHA 330
-4~ 832 30,000& = 1CH 30
AL SESAIE) 300,000& * 1CH 300
O+ & S83 dEA 143,000& * 23] 286
Os2I HIIZA 130,000& * 13 130
202 04 bl 5,000 5,000 0
01 2LHOHI 5,000 5,000 0
g =4 5,000
206 T2 HI 26,000 6,000 20,000
01 M= bl 26,000 6,000 20,000
O=E323 224 MYl 3,000
OZS~SUXZ 224 =Yl (2,220m) 20,000
Og9 g 754 3,000
301 Lpr B A 960 0 960
09 HALAHIEA = 960 0 960
OFXA L SAM0IEZ S EHA =4
8,000& * 20¥ x 63 960
23AE Y BHISA2A2/(EHH) 131,723 95,525 36,198
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Ha: z0l OHE NHIA HZ(HA)
el S8X0 240 29 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
AR A=) 50,000& = 12& 600
“4otER 3 50,000& = 12& 600
-AE KX 2el 500
OtlEelady 2el 2,300
-3 100,000& * 12& 1,200
-4otER = 50,000& = 12& 600
-AE KX 2el 500
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
OF& - &3 ®3X &2 MWzl 1,000
FOXXHEH2Y 13,500 13,500 0
201 L2l 13,500 13,500 0
01 At 22l 11,500 11,500 0
O XXNHH 29 1,000
Oslo+¢ 35,000& * 259 » 12& 10,500
03 A2 Z Hl 2,000 2,000 0
OFUXXNASE2ds AASE 2,000
FOHOSA XYWL (EHH) 900,000 440,000 460,000
ZE8UAE NG (EHH) 900,000 440,000 460,000
AL FOUSIAANG(ELEH) 900,000 440,000 460,000
401 Al B2 28I 900,000 440,000 460,000
01 A& HI 900,000 437,000 463,000
O&d =2 E(100m) 22,000
OAME =2 I 2(80m) 20,000
OM= =ZEZ(80m) 20,000
OHlS OtAZ XM 27| (350m) 21,000
OHI=2 OS2 0otAZ S M 2] (650m) 28,000
OHl= otA 2% M 27](800m) 30,000
OHl= otsot2 & (120m) 25,000
oHls =Z Z & (100m) 22,000
OEHA B === A b8l (400m) 30,000
OZat OFA 2 M 2] (400m) 22,000
24 Ots et FHl(20m) 15,000
O2H OtA 2 M 2I](800m) 30,000
OLUi# OrAZ S M <237](300m) 21,000
O8= thi==&tl(35m) 10,000
O8=x 0tA2% M 2I](400m) 22,000
OXl= OtAZ XM 2] (400m) 22,000
OXIU or2orZ &yl (140m) 15,000
OXIU B ==&t (10m) 8,000
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